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1- Po tion and ficalth characteristics:

Q1- The age and sex distribution of a certain
population is given in the following Table:

Age in vears Male|Female|Totl
0=l 9% | Ro | 1x2
14 358 355 |713
5-14 993 | 1057 2050
1544 1530 1562 3092
45.64 0N 312|613

65 and above] 95 | 119 | 217
Total 3376 349] [6X6T

. Describe the Table above and try to compare the
relative composition with respect to age and sex.
Comment on your findings.

2. Draw a population pyramid for this population.

3. What type of countries does this population
belong to?

+. What health problems are expected to be
prevailing in such population?

s. What will happen to this distribution if:

- Fertility declined
- Mortality declined.

Q2- A community is having the following data
for the year 2012:

Total population SO000]
Mumber of total births (LB+SB) 2200
Mumber of live births 2000
MNumber of total denths 400
Mumber of deaths during first year of life 120
Mumber of deaths during first week of life 18
Mumber of persons who developed disease(x)] 100
Mumber of persons who died from disease(x)] 4

Calculate for this population epidemiological
parameters related to fertility, morbidity and
mortality in the year 2012,

2. Measurements (indicators) of health:

M. A rlace hae 10 etndante durineg the manth

). O Lt]

FaY
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